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This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into two parts — Part A and Part B.

Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given

options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.

Questions no. 17 to 20, 31 and 32 carry 3 marks each.

Questions no. 21, 22 and 33 carry 4 marks each.

Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks

and 2 questions of six marks.

(1)

(i1)

PART A

(Accountingfor Partnership Firms and Companies)

Hina and Neena are partners in a firm. Neena withdrew-3 10,000
per month at the beginning of each month during the year ended
315t March, 2022. Interest on drawings was to be chargéd @ 6% per
annum.

Interest on Neena’s drawings for the year ended, 315* March, 2022

will be :

(a) ¥ 3,900 (b) T 325
e ¥ 3,600 @ ¥ 3,300
OR

Vibha and Asha are partners in a firm. Asha withdrew ¥ 1,000 at
the end of each quarter during the year ended 315t March, 2022.
Interest on drawings will be calculated for an average period of :

() 6 months (b) 4% months

(¢) 7 % months (d) 6% months

~~~~ Page 3 P.T.O.



2. I R TEA TH BH H HERGR § | WA 4 1 I, 2021 H HH R
T 6,00,000 T KT {31 | TR HIg T Toi@ &1 AT | 31 ATE, 2022 i

3T R R e 91 =91 <kt fe Tfst <p1 geper o -
@ T 36,000 (b) T 18,000
© T 9,000 d) T 27,000

3. () oAfgar fafies 9 T 4,70,000 H Yg INEERET F HT oI & G
T 5,00,000 3 qUT Y& 37T 1 fE foRam | T 30,000 % 29 T @A
I - 1 - - 1<
(a) @IT%,QTH‘?&T
(b)  YSIt H= ¥, 9 &
(c) S &=, 5|1 9&
(d) IE= ==, ST 9§
T

i) ou fafes 9 gya fafies &t £ 12,00,000 1 afwrafai qen
T 4,00,000 T IAIRAT HI T 9,00,000 % HT Hod T AR B H
TEld Salgfc S FTEER. 1009 19 RUGE] 1 40% F3 T
fortas g & oI | Frifga f@Re e BRorasy 6 g g
(@) 9,000 () » 10,000
(c) | 8,000 (d) 11,000

Heleriaa Hreqi-e 1€1d &l 96T @91 379 31 7T a7 3 \3TER. T 397 T&IT 4 797
5 & I T :
Shicrdr, Hfadr am 7Y T B § Areigr off aur It St hES: T 6,00,000,
T 4,00,000 TAT T 2,00,000 i | G W 10% T X & SN ¢ o q99Tq
AT o1 T 7 TR g o
e % 9T, |fen % 9T QT 7Y % YT | Shfadl H SARETd €9 9 TR &
o5 @i # Afaar &1 9 G W &I g9 6 qeErq et ot Iy |
T 1,00,000 T 7 &I B |

ISt W SIS YgH S ¥ U9 31 T, 2022 I GHH g I 9 H ey
< 3,00,000 o1 |
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2. Aman and Chaman are partners in a firm. On 1St July, 2021 Aman
advanced a loan of ¥ 6,00,000 to the firm. There is no partnership deed.
On 315* March, 2022, Aman was entitled to get the following amount as

interest on loan : 1
(a) T 36,000 (b) T 18,000
(c) < 9,000 (d) T 27,000

3. (1) Akshita Ltd. issued fully paid shares of ¥ 5,00,000 in purchase
consideration of net assets of ¥ 4,70,000. The balance of ¥ 30,000
will be to account. 1

(a) debited, Goodwill
(b)  debited, Capital Reserve
(c) credited, Capital Reserve

(d) credited, General Reserve

OR
(i1) Maira Ltd. took over assets of ¥ 12,00,000 and liabilities of
T 4,00,000 of Subav Ltd. for an agreed purchase consideration of
< 9,00,000. The.amount was payable by issue of 11% debentures of
3T 100 eachnat _10%sdiscount. The number of.debentures issued will

be : 1
(a) 9,000 (b) 10,000
(c) 8,000 (d) 11,000

Read the following hypothetical situation and answer questions number

4 and 5 on the basis of the given information :
Kavita, Savita and Madhu were partners in a firm with capitals of
< 6,00,000, ¥ 4,00,000 and < 2,00,000 respectively. After providing
interest on capital @ 10% p.a., the profits are divisible as follows :
Kavita %, Savita % and Madhu % Kavita personally guaranteed that
Savita’s share of profit after charging interest on capital would not be
less than ¥ 1,00,000 in any year.
The profit for the year ending 315 March, 2022 amounted to ¥ 3,00,000
before providing interest on capital.

67/1/1 ~~~ Page 5 P.T.O.
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glerdar 1 AT T 9rT TRE <h qisT 9 kA o
(a) ¥ 40,000 () T 70,000
(¢) T 20,000 (d T 10,000

%H o ol AT I TS <t TR =T THEISE H & 9v=rq argeil ¥ fawrfoa
fepa S

(a)
(b)
(c)
(d)

(1)

(i1)

(1)

(i1)

Hiadr T 60,000, FiadT T 40,000 TAT 7Y T 20,000
Hiadt T 50,000, Fiadm T 1,00,000 7T 7Y T 30,000
Hiadr T 60,000, Fiadr T 90,000 TAT 7Y T 30,000
Hiadl T 60,000, Ffaar T 1,00,000 921 7Y T 20,000

Teh HFHT 4 T 10 I o 400 3130 o1, 9 W T 8 ufd 3w anfaa
fopem T o, T 2 Wi 379 T AW ATET URT BT PIAH T H T E
T | 3 oI S WO WA YN @Id o AW U§ H @dHl i
Gl'l'@'ﬁ:

(a) ¥4,000 (b). 800
(c) T 3,200 (d < 2,000
AT

e [feHes T = 10 Sedish & 700 site S 10% fiftmm W
frifie fopen a en, = 5 Ui 81w (Shfrem Gfgd) $t smees ufsr qen
T M 79 hl 9AW U AT AT T3 BT YIGH T HLTGT T
o | 39 3730 o BTOT W3 W Q@A o6 ST 981 H Qatehl e -
(a) < 7,000 (b) < 1,400
(¢) | ¥4,900 (@ <= R,700

Ufga fafide 3 T 100 98 &+ 2,000, 9%3€mqsﬁwﬁﬁq-—r T 95 9fd
OIS R fRIAT | 9% RUT9T @Td & STHT 98T § Wil shl ST

(a) ¥ 1,90,000 (b) % 1,10,000
(c) T 2,00,000 (d) ¥ 10,000
AT

Fafafad & 9 981 e @ T 2 2

(a) RIS W SIS Ueh YYR &, fofem T8 |
(b)  RUTTE! i g W Frifia foman S HRar B
(¢)  SRUTYFAHTNAT bl i ¢ bl SR &1 7 |
(d)  ROTYAT i M T yNafdd & foham ST Hehall |
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4, Savita’s share of profit is short of the guaranteed amount by : 1
(a) T 40,000 (b) ¥ 70,000
(c) T 20,000 (d) < 10,000

5. The total profits of the firm after adjustment of guaranteed amount will
be distributed between the partners as : 1

(a) Kavita ¥ 60,000, Savita ¥ 40,000 and Madhu ¥ 20,000
(b) Kavita ¥ 50,000, Savita ¥ 1,00,000 and Madhu ¥ 30,000
(c) Kavita ¥ 60,000, Savita ¥ 90,000 and Madhu ¥ 30,000
(d) Kavita ¥ 60,000, Savita ¥ 1,00,000 and Madhu ¥ 20,000

6. (1) A company forfeited 400 shares of ¥ 10 each, ¥ 8 per share called
up for non-payment of first call of ¥ 2 per share. On forfeiture of

these shares, ‘Share Capital’ account will be debited with : 1
(a) T 4,000 (b) - ¥ 800
(c) T 3,200 (d 72,000

OR

(i1))  Xyleglitd. forfeited 700 shares'of & 10 each issued at a premium of
10% for mnon-payment of 'allotment money of ¥ 5 per share
(including premium) and first and final call of ¥ 3 per<Share. On
forfeiture of these shares, “Share Forfeiture Account’ will be

credited with : 1
(a) . < 7,000 (b) ¥ 1,400
(c) < 4,900 (d) 12100
7. (1) Rohit Limited issued 2,000, 9% Debentures of ¥ 100 each at ¥ 95
per debenture. 9% Debentures account will be credited by : 1
(a) ¥ 1,90,000 (b) ¥ 1,10,000
(c) < 2,00,000 (d) ¥ 10,000
OR
(i1))  Which of the following statements is incorrect ? 1

(a) Interest on debentures is a charge and not an appropriation.
(b)  Debentures can be issued at discount.
(c) Debentureholders do not have voting rights.

(d) Debentures cannot be converted into shares.

67/1/1 ~~~ Page 7 P.T.O.



8. T, YN qYT SfGHIS HEER o qAT 3:2:1 % U § A1l 1 fauTeH
HA I | 1 JAms, 2022 H AN BH § FATHGT & T | A A
garHgfa 6t fafy w feufa faawr e @ % 9@ 95 § T 1,20,000
AY T @1 A7 | A Bl T URT N AT HA G TH AT BT SR
[ERIESIIE
(a)  3THA TAT YR % Yol @Al o AW 98 H QA A9-fo9Te g9 ¥ |
(b) A, YR AT AT < Y @Al o AW 9§ § A Ard-faueH

I H |
(c)  3THA QT STYR h YSft @Al o SHT 981 H T ATH-[HTSH I H |
(d) 3T qAT TR o Y51t @Tdi o AT &1 H b AIAH I H |

9. ﬁﬁl@dlﬂﬁ%%dl(g@?ﬁﬁmsﬁ'am212%33@11?[ﬁ3mﬁ$[
fawrsH #d 8 | A HaTHgT 8 T q91 Se i He ST SHESH,
REF(El o QAR R CAAISTl o GAMYRUT o 9=l 38k Yoil @Id i
I T 80,000 o1 | T4y o weflt 35 g o qui f9e™ H 39 T .1,00,000 1
YA Hges T T8qd 810 | HTeL Al HaIa i 9 BH <l TAMd § IHhT

HIT AT ;
(a) < 4,000 (b) < 20,000
(c) < 16,000 (d) < 1,80,000

10.  3YHYT(A): TATG Teh S IHEHN & |

FR(R) : Tfd wiosy d smferd oymor et & 2Afafies et e %
Tree | Teh BH I JfIsaT &1 4o 7 |

ffafga @ 9 92t faemeq <1 ==@ FifST
(a)  SANTHAT (A) T 8, Tg SO (R) Tod ® |

(b)  3THT (A) T 8, T HRUT (R) TE 7 |

(c) TR (A) qUT SR (R) 41 981 & |

(d) IHI (A) 9T FHROT (R) SHI Tdd & |
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10.

67/1/1

Aman, Aadhar and Avinash were partners and sharing profits in the
ratio of 3 : 2 : 1. Avinash retired from the firm on 15t July, 2022. On the
date of Avinash’s retirement, the Balance Sheet showed a debit balance
of ¥ 1,20,000 in the Profit and Loss Account. For calculating the amount
payable to Avinash, this balance will be transferred :

(a)  To the debit side of the capital accounts of Aman and Aadhar in old
profit sharing ratio.

(b) To the debit side of the capital accounts of Aman, Aadhar and
Avinash in old profit sharing ratio.

(c) To the credit side of the capital accounts of Aman and Aadhar in
new profit sharing ratio.

(d) To the credit side of the capital accounts of Aman and Aadhar in
their gaining ratio.

Nidhi, Kunal and Kabir are partners in a firmssharing profits in the ratio
of 2 : 1 : 2. Kunal retired and the balance-in his eapital account after
making necessary adjustments on_account of reserves, revaluation of
assets an@¥reassessment,_of liabilities'was < 80,000. Nidhi and Kabir
agreed to pay him ¥ 1,00,000 in full settlement of his claim: Kunal’s
share of goodwill of the firm, on his retirement was :

(a) ¥ 4,000 (b) T 20,000
¢ ¥ 16,000 (d) ¥ 1,80,000

Assertion (A) : Goodwill is a intangible asset.

Reason (R):  Goodwill is the value of the reputation of a firm in respect
of profits expected in future, over and above the normal
profits.

Select the correct answer from the following :

(a)  Assertion (A) is correct, but Reason (R) is wrong.
(b)  Assertion (A) is wrong, but Reason (R) is correct.
(c)  Both Assertion (A) and Reason (R) are correct.
(d) Both Assertion (A) and Reason (R) are wrong.

~~~~ Page 9 P.T.O.



12.

13.

14.

67/1/1

F AT @ Teh BH § AEIGR o qAT 7 : 1% AId H ATH-TH 1 fa9eH
g | F J YAk fqHTEl & IRH H T 12,000 h Tk Hivaa Tl &1 3mswo
foman | STTET W 6% aTfSer @ @ =S Wi forn SiTar @ | 99 % 31 H STE
T IS Y9G v shl TsHH=n Ifafse g .

(a) AWl W SIS Widl 4™ ¥ 1,800

%’ 1 Sl @ral T 1,800
(b) AW W TS QIdl 4™ < 1,800

%’ 1 dTe] @ral T 1,800
(c) & 1 Ysit @I 9 T 1,800

TR0 W ST @Il T 1,800
(@ Y- fafse @ am T 1,800

JTET TS Gl T 1,800

3Tfehd St 1 98 WIT S8 areda ® SHa1 i ANed i o fog feifea T

STdT B, ShEdTdl B

(a)  frem gSh
(b)  Tifia gSh
(c)  STffehd il
(&) s e

et fafiee 7 T 100 s &1 w o, o/t 209% Hiftem w feifaa fean mn
o, T 30 Wi 3731 3hl Y| A=A G T 10 9l 371 i | JfeHT 1 YIaE
T B W, FOT B fordl | AR oI S8 W 38 Y F), HHG RIS
Tehdl 8 :

(a) T 40 (b) T 60

© T20 (d T 100

T qAT ST Th HH H HIEER & A 2: 1 AT § 1l & fawse
& | s e 2w % for e # R | s 3 e

9T T % T Aferar | qen % T ST & ot | e, STmT qen o1ed

ST T A1 -fauTSH 7UTd g1
(a) 3:2:4 (b) 4:3:2
(c) 2:1:1 (d) 4:2:3

-~~~ Page 10



11. ‘A’ and ‘B’ were partners in a firm sharing profits and losses in the ratio
of 7: 1. ‘A’ withdrew a fixed amount of ¥ 12,000 at the beginning of each
quarter. Interest on drawings is charged @ 6% p.a. The journal entry for

charging interest on drawings at the end of the year will be : 1
(a) Interest on drawings A/c Dr. < 1,800
To A’s Capital A/c < 1,800
(b)  Interest on drawings A/c Dr. < 1,800
To A’s Current A/c < 1,800
(c) A’s Capital A/c Dr. < 1,800
To Interest on drawings A/c < 1,800
(d)  Profit and Loss Appropriation A/c Dr. ¥ 1,800
To Interest on drawings A/c < 1,800

12. That part of the authorised capital which is actually issued to the public
for subscription is called : 1

(a)  Subscribed capital
(b)  Issued capital
(c) Authorised eapital

(d)  Reserve capital

13. Zinki Limited forfeited a share of ¥ 100 issued at a premium of 20% for
non-payment of first call of ¥ 30 per share and final eall of ¥ 10 per

share. The minimum price at which this share ¢an be, reissued is : 1
(a) T 40 (b) 60
(c) T 20 (d ¥ 100

14. Akshita and Anurag are partners in a firm sharing profits in the ratio of

2 : 1. Akshat is admitted in the firm with % share in profits. Akshat

acquires % of his share from Akshita and % of his share from Anurag.

The new profit sharing ratio of Akshita, Anurag and Akshat will be : 1
(a) 3:2:4 (b) 4:3:2
(c) 2:1:1 d 4:2:3

67/1/1 ~~~ Page 11 P.T.O.



15. WH % foued & awy ffaRed # @ fpd agel @1d o g&amaia fpam smem 2

(i)
(ii)
(ii1)
(iv)
(a)
(b)
(c)
(d)

16. (@)

(i1)

67/1/1

gy =Tl & fole, a9

HISIE 1 R

T g9

=

(i) 3R (iv)

(i), (i1) AAT (iv)

(i), (iii) AT (iv)

(i), (ii) T (iii)

o}, 9 TAT TR Teh BH H TATHGR & TAT 4: 3: 19k A § ATH-ZTH I
fawse & 9 | 1 TR, 2022 1 4 H A B R | SR gy H

fafer =t &1 & @i S TUET T 80,000 TR | i TN o WET i
gaTTSIa femam ST

(a) | SR, S B FEEe ) € 40000 iyt |

(b) | WMY-BIH AN @1 o 718 95 4 T 40,000 ! AT b |
(c) - ATY-BIH 3=fd @Td & 9 & § T 80,000 bl G-I"shieh |
(d) Y-8 SWfd @id & 9™ 98 § T 40,000 <hl Gt e |

AT

oo, fiar qon SAHAr Tk ®H H GEGR 9 997 3:2:1 % 19 H
ATH-EIM o1 TIWTSH d o | OO HaTHad 81 15 3R 39ehT HET Hiar ae
AT g seR-ateR form man | far qun stfar w1 T A fawsH

1A BT :

(a) 2:1
(b) T7:5
() 1:1
d 3:2
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15. Which of the following will be transferred to Realisation Account at the

time of dissolution of firm ?

(i)
(ii)
(ii1)
(iv)
(a)
(b)
(c)
(d)

16. (i)

(i1)

67/1/1

Provision for Doubtful Debts
Partners’ Loan

General Reserve
Goodwill

(1) and (iv)

(1), (i1) and (iv)

(1), (iii) and (iv)

(1), (i) and (iii)

P, Q and R were partners in a firm sharing profits and losses in
the ratio of 4 : 3 : 1. P died on 15t September, 2022. On the date of

P’s death, the profits of the firm were calculated as ¥ 80,000. P’s
shaze of profit will be adjusted by 1

(a) | Debiting Profit land Loss Account with ¥ 40,000.

(b) ¥= Debiting Profit’and Loss' Appropriation Account by I 40,000.
(c) Debiting Profit and Loss Suspense Account withy< 80,000.
(d)  Debiting Profit and Loss Suspense Account, with ¥ 40,000.

OR

Pooja, Nita and Anita were partners in a firm sharing profits and
losses in the ratio of 3 : 2 : 1. Pooja retired and her share is taken

up by Nita and Anita equally. The new profit sharing ratio of Nita

and Anita will be : 1
(a) 2:1
(b) 7:5
(c) 1:1
(d 3:2

~~~~ Page 13 P.T.O.



18.

19.

20.

67/1/1

g, foas qer forig T B | |1EER 3 Q1 5: 3 : 2% T § TH-§T
fawsH d 9 | 1 3799, 2022 %1 gAF FaTHIT &1 T3 | TR, T1d ad
Tfa vl oTfe araret afl TUTIISHI i ST o I fodeh qt forig o gsi
@rdi 4 A T 3,60,000 AT T 1,40,000 T SHT Y T |

g iy foren o fop foass wa fomie <t 451t 1 3ok 1 a9-faweH orgdma |
ARG oRaT ST | 3Ta9¥eh URET aF A9l MENd i <l 3Teawdh
QA= gfafseat hifsu | 3199 srf sl Tqse &9 @ 29isu |

313, W, T AT ] Teh HH H TIEGR & AT 2:1:2: 1% G § TH-JIH
&1 TI9SH A 9 | I8 1 30, 2022 § A Bl 4:2:3: 1% JJUd |
fawfora 6 w1 faote forn | 38 fafar @61 wd & wonfa 1 geames T 1,20,000
foRe T T IEaeRl W AT E=E T 36,000 ST @ o |

ITITE A % U sTavEs AT whfsEt ST | o wE # T &
R

(%) e fafis 7 T 10 & & 1,00,000 WM 1 10% Hfrm w
afie % oo Sarmen Freifiaefear | @rgol afSt smEeT w2 off |
3,00,000/S38Ii g=h 4T Safdic St gt e &€ & fujE fofn for wft
ST hl STTUTIeh ST T ST8M T AT L (AT ST
TAFd foiffide sl Jedel § IUAh oFedl o (o0 STawAsh USHTHDT
gfafseat Shifsm |

A

(@) waq fafies 3 = fofes 1 T 60,00,000 $i ufmfaar qen
T 10,00,000 I AT T 45,00,000 % T oI T o hl T & |
TR 1 PTaE T 100 IAH & 10% FROGAT Sl 25% Hiftem w Frifaa
ek TehdT ST T |
vad fafiRe &1 geael # SWw el o (AT STavesh UsHHE
yfafseat Shifsa |

(%) 131, 2022 I MY qAT GG T B H IS T 1,50,000 7 | FEIRE
ot W g™ S GE @ 10% 8 | BH % 3fEd o T 23,500 § |
ARl o 9 I & HF & YR W B hl ©Iifa hl 7uEm ki |

AT
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18.

19.

20.

67/1/1

Suman, Vivek and Vinod were partners in a firm sharing profits and
losses in the ratio of 5 : 3 : 2. Suman retired on 15t April, 2022. After
making all adjustments relating to revaluation, goodwill and
accumulated profits, etc., the capital accounts of Vivek and Vinod showed
credit balances of ¥ 3,60,000 and T 1,40,000 respectively.

It was decided to adjust the capitals of Vivek and Vinod in their new
profit sharing ratio. Pass necessary journal entries for bringing in or
withdrawal of the necessary amounts. Show your working clearly.

Anu, Manu, Tanu and Kanu were partners in a firm sharing profits and
losses in the ratio of 2 : 1 : 2 : 1. They decided to share profits and losses
in the ratio of 4 : 2 : 3 : 1 with effect from 15t April, 2022. On this date,
goodwill of the firm was valued at ¥ 1,20,000 and General Reserve
appeared in the books at ¥ 36,000.

Pass necessary journal entries for the above transactions. Show your
workings clearly.

(a) Annex Ltd. issued 1,00,000 shares of ¥ 10 each at a premium of
10%'to_the public for subscription. The whole amount was payable
on application. Applications were received for 3,00,000 shares and
the board decided to allot shares to all shareholders on pro-rata
basis.

Pass necessary journal entries for the above transaections in the
books of Annex Ltd.

OR
(b) Shovan Limited took over the assets of ¥ 60,00,000 and liabilities
of ¥ 10,00,000 from Swami Limited for an agreed purchase

consideration of ¥ 45,00,000. The amount was payable by issuing
10% debentures of ¥ 100 each at 25% premium.

Pass necessary journal entries for the above transactions in the
books of Shovan Limited.

(a)  On 15t April, 2022, the capital of the firm of Ashu and Madhav is
T 1,50,000. The normal rate of return on capital employed is 10%.
Average profits of the firm are ¥ 23,500. Calculate goodwill of the

firm based on three years purchase of super profits.

OR
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22.
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(@) & qen Afh T ®H H HWHGR @ A1 4: 1 % AT H ATH-RIH
fawrsH 8 | 1 31, 2021 1 IhI ISt wAM: T 1,20,000 qAT
T 80,000 off | 1 fe@wer, 2021 I 3= Fofa fo=n fof & &1 T ISt
T 3,00,000 BT f&ek fIT 3I7F §RT 2:1 % UM H ANEE fe
SITE |
T Fci@ o 3TN, ATEIGRI I 6% dTNeh &t & Yoft W A TG
SITE |
31 T, 2022 ! THE B a1 a9 # Yot R T W arel <A1 1 70T
HIfST |

Hew fafies it siftepad ISt T 30,00,000 & St T 10 IAF & wHaT W A

fawfSa 8 | e 370,000 3730 61 fifig s & fofw armaeq smafa foe |

69,000 3T o ToTq 3Areed 9T Y | @ =TS |/ &t T qA K 3,000

M W T 2 9l 3797 hl YW T (qH JTEAT T bl Sigent Il T e &1

TS | 39 3790 hT 8071 K foram T |

(%) O AMEE, 2013 i JTEI I, AT [ & FHIR HFOT & 2l
foreu # <o gz |

(@) 3H & O @il & e o GER Hib |

e, Gk aT a9 Ueh HH H AISIqR & q9T,2: 2 : 1 31T | @IY-gIH
faure =@ 9 |1 31 7, 2022 i 3T TNl faeror =1 g |9

31 HT™, 2022 i G, S1Ueh qAT T 1 e d S

N 1131 N ufT
TR 50,000 | Y T Had 2,10,000
= T 1,00,000 | AR 1,90,000
EQyl 1,20,000 | ¥ 30,000
g IEER 1,70,000

gdR 1,60,000 fostma S=fa @ 1,20,000

[HEED 1,50,000

EEIE] 1,40,000 | 450,000

7,20,000 7,20,000
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(b)  Rakshit and Malik are partners in a firm sharing profits and losses
in the ratio of 4 : 1. On 15! April, 2021, their capitals were
¥ 1,20,000 and ¥ 80,000 respectively. On 15t December, 2021, they
decided that the total capital of the firm should be ¥ 3,00,000 to be
contributed by them in the ratio of 2 : 1.

According to the partnership deed, interest on capital is allowed to

the partners @ 6% p.a.

Calculate interest on capital to be allowed for the year ending
315t March, 2022.

21. Sandesh Ltd. has an authorised capital of ¥ 30,00,000 divided into equity
shares of ¥ 10 each. The company invited applications for issuing 70,000
shares. Applications for 69,000 shares were received. All calls were made
and duly received except the first and final call of ¥ 2 per share on 3,000
shares. These shares were forfeited.

(a)  Present the ‘Share Capital’ in the Balance Sheet of the company as
per/Schedule 1II, Partyl ofithe,Companies Act, 2013.
(b)  Also prepare ‘Notes to Accounts’ for the same.

22. Sudhir, Deepak and Naveen were partners in a firm sharing.profits and
losses in the ratio of 2 : 2 : 1. On 315 March, 2022 their-Balance Sheet
was as under :

Balance Sheet of Sudhir, Deepak and Naveen as at 315t March, 2022
A t A t
Liabilities T2 | Assets i
Creditors 50,000 | Land and Building 2,10,000
General Reserve 1,00,000 | Machinery 1,90,000
Loan 1,20,000 | Stock 30,000
Capitals : Investments 1,70,000
Sudhir 1,60,000 Advertisement Suspense A/c | 1,20,000
Deepak 1,50,000
Naveen 1,40,000 | 4,50,000
7,20,000 7,20,000
67/1/1 ~~~~ Page 17 P.T.O.
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30 S, 2022 W GIR I g B TS | HIBIGR H I W e Tor@ |

T LT o :

(i)  H I TN I Yo TS IR dui o 3N{d @, s T 1,80,000
&% 22 =il 3 7 3 s fn e |

(i) T i Tafyr qoh W A¥aT g § R o 9 H1 AT foshd o STER
T I I | 31 {TE, 2022 I GAE BF 91 99 § o f iy
T 4,00,000 ot qUAT 1 T, 2022 ¥ 30 S 2022 T foasRa h T
T 1,50,000 o | 31 Te, 2022 %I HHH FT oW H A9 T 1,00,000
o |

(iii) IS W 7% 91N g | S TG S |

et & Fsareent ol 9 o foTu 391 ISt @A IR i |

(%) T ofifeafei @ ol & &0 wd AT &t Savas  UsHmE
yfafseat Fifve
() & &S AfRs 3 T 1039 & 75 30 I, e T 4 9fd 3w
SHERE, 9T (i R 7 &y & 8 Jig =i (Shiftem afga) i
SIS TR I JIATH | i T, 300 o (o @l | T 40 7% 6
oW T ST Iren T A+ wift 78f 78 off | 5o fhe u s
i T 15 T -390 Tad g Frihra o6 feam |
i) Tifqeer fafes 3 F 50 ufd 191 & 1,200 3931 &1, N ¥0 go3
X TTtHa Tl T o1, T 10 Wid A <Al AH AT 1 YITaH
T T, O R T | T G 900 I hl T 45 Tid A IO
Yed q4: Fifaa s fomm i |
AT
(@) v faafieg 9 T 100 I & 30,000 3790 1 20% Hfem w fffia
H o O e mta fohe | gfd o791 Uiy &1 yrae =1 wer &
éﬁi’ﬂ:
AT W — T 40 (T 10 Hiftem wfza)
& W — T 30 (T 10 Hiftem wfzq)
Y| I W — T 30
g wa <Afaw s W — 9w
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Sudhir died on 30t June, 2022. The partnership deed provided for the

following, on the death of a partner :

(1)

(i1)

(iii)

Goodwill of the firm was to be valued at 2% years purchase of
average profits of the previous four years which were I 1,80,000.

Sudhir’s share of profit or loss till the date of death was
to be calculated on the basis of sales. Sales for the year
ended 315t March, 2022 amounted to ¥ 4,00,000 and that from
15t April, 2022 to 30t2 June, 2022 amounted ¥ 1,50,000. The profit
for the year ended 315t March, 2022 was ¥ 1,00,000.

Interest on capital was to be provided @ 7% p.a.

Prepare Sudhir’s capital account to be rendered to his executors.

(a)

(b)

Pass necessary journal entries for the “forfeiture and reissue of

shares in the following cases :

(1) BCG Limited forfeited 75fshares of ¥ 10 each issued at a
premium of X 4 per share for non-payment of»allotment
money of ¥ 8 per share (including premium). The first and
final call of ¥ 4 per share was not made. The forfeited
shares were reissued at ¥ 15 per share fully paid.

(i1)  Geetika Limited forfeited 1,200 shares of'T 50 each issued
at par for non-payment of final call of ¥ 10 per share. Out

of these, 900 shares were reissued at ¥ 45 per share fully
paid-up.

OR

Pushkar Limited invited applications for 30,000 shares of ¥ 100
each at 20% premium. The amount per share was payable as
under :

On application — ¥ 40 (including ¥ 10 premium)
On allotment — ¥ 30 (including ¥ 10 premium)
On first call - ¥ 30

On second and final call — Balance
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()

40,000 3191 < fTT TG W L qAT 35,000 37 o TG ohl
IR 3TTeeA o G TRT | WY SATIGH] i ITTehd L fem T |
3ATeeT W T AR g-UisT o1 GurRISH STeed W e TR J &L fean
T |
e, for@d 700 A9 % forw afrared feam o, Wrrﬁ?ra»‘rgyﬁrmmﬁ
H hA TET 3R 3MeeH o G I9aTq 4 370 ol g7 o o TR |
3Tk 91¢ YW ATSET WA T dAT YW It W aft iy urea &
T3 | fgd wa sifam aremn & Anh g |
gt Toifiee 1 geaehl O TR el & folt SAEwdeh U
gfafsat Hifer |
I AT I TH BH H ARG I AT 3 : 1 % AU H AH-gIH I
foamem &t 9 | 31 9, 2022 i 3T fRafa foawor 1 ger o

31 WTH, 2022 i ga qUT R &1 eufa ferawor

. i .
e R o
IGEALS 41,000 | I T T 60,000
T H= 80,000 ¥ 40,000
3fed I 12,000 | fawr 60,000
S ieh 50,000
Ia 79,000 [T 38,000
X 48,000 1,27,000 | 2T+ Hfcwe 0T o
T gEag™  4,000¢ 34,000
TUehs 16,000
2,60,000 2,60,000

1 319, 202261%3—5%?11%4%& WA < fou 1 3l oX I 1 wH §

ECRRCRIE

(1) I AR YSi qAT 7Y W oh ©ATd A % T 4,000 TG
AT |

(i) a1 g T 68,000 foham T |

(iii) EIF T AR TR 10% HeIg™ =T A |

YHEATRA @A q1 HTEIER] % Yol WTd dIR I |

AT
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(a)

Applications were received for 40,000 shares and pro-rata
allotment was made to the applicants for 35,000 shares, the
remaining applications being refused.

Excess application money was adjusted towards sums due on
allotment.

Yogesh, who applied for 700 shares, failed to pay the allotment
money and his shares were forfeited immediately after allotment.

First call was made thereafter and all the money due on first call
was received. The second and final call was not made.

Pass necessary journal entries for the above transactions in the
books of Pushkar Limited.

Yuv and Veer were partners in a firm sharing profits and losses in
the ratio of 3 : 1. Their Balance Sheet as on 315t March, 2022 was
as under :

Balance Sheet of Yuv and Veer as ati315¢ March, 2022

Liabilities AmOunt |\ ets Amount

Creditors 41,000 pPlant and Machinery 60,000

General Reserve 80,000 | Building 40,000

Outstanding Expenses 12,000 | Investments 60,000

Capitals : Stock 50,000
Yuv 79,000 Debtors 38,000

Veer 48,000 | 1,27,000 | Less : Provision fon

Doubtful Debts~" 4,000 34,000

Cash 16,000

2,60,000 2,60,000

They decided to admit Yash in the firm on 15t April, 2022 for

i share in profits on the following terms :

(1) Yash will bring in proportionate capital and ¥ 4,000 as his
share of goodwill premium in cash.

(i1)) Investments were valued at ¥ 68,000.

(i11)) Plant and Machinery was to be depreciated by 10%.

Prepare Revaluation Accounts and Partners’ Capital Accounts.

OR
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(W) ™, YA Qo1 §RA1 T FH H HISGR 4 991 5 : 3 : 2 % 3T |

Y- o1 fauoH &wd 9 | 31 A, 2022 1 371 et faewor
JehlT T .

31 AT, 2022 i AT, AT TLUT T T Fedta fereron

N rfr e m;rr
fafay der 2,20,000 | Uhg 1,60,000
qu= Ty 1,20,000 | TER 1,80,000

T : gfay ol

foIk 6,00,000 Tlh 2,00,000
ATHH  5,00,000 EENIEE] 6,00,000
qay 3,00,000 | 14,00,000 | 9o 4,00,000
qmeH 1,20,000

ST QT 1,00,000

17,40,000 17:40,000

foQ gT@g™ 20,000 1,60,000

Ik fafyr =t e deriHe &t T SN HE W OEEE(d g8

() 9 T GariHgd W wH Shl B 1 oA, 12,00,000 TR
T |

(i)  TISHM a1 =T Afosy § i 1 fouTe 2 : 3 o U |
Sl |

(iii) T 40,000 % Tsh ARG TSR hl i@l TohT T |

(iv) ¥ 30,000 % CGRI ! od 0T o €9 § ufciigd s fgam s |

(v) 3731 k! < TR 1 TEITL0T 39 0T @Td H KL eI T |

®H I JEdeh] H ITIH Al oh TOIT ATETI UeHTH=1 ITAfSar shifer |
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(b)  Reyansh, Aayushman and Sabhya were partners in a firm sharing
profits and losses in the ratio of 5 : 3 : 2. Their Balance Sheet as at
315t March, 2022 was as under :

Balance Sheet of Reyansh, Aayushman and Sabhya as at 315t March, 2022

A A
Liabilities MRt | Assets mount
Sundry Creditors 2,20,000 | Cash 1,60,000
General Reserve 1,20,000 | Debtors 1,80,000

Less : Provision for

Capitals : Doubtful Debts 20.000 1,60,000

Reyansh 6,00,000 Stock 2,00,000

Aayushman 5,00,000 Machinery 6,00,000
Sabhya 3,00,000 | 14,00,000

Building 4,00,000

Patents 1,20,000

Profit'and Loss A/e 1,00,000

17,40,000 17,40,000

Reyansh retired on the above date and it was agreed-that :

(1) Goodwill of the firm on Reyansh’sgretirement was valued at

T 12,00,000.

(ii)  Aayushman and Sabhya will share future profits in the ratio
of 2: 3.

(111) An unrecorded creditor of ¥ 40,000 will be taken into
account.

(iv)  Debtors of T 30,000 will be written off as bad debts.

(v)  Amount payable to Reyansh was to be transferred to his

loan amount.

Pass necessary journal entries for the above transactions in the
books of the firm. 6
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25. MG TR AT Toh HH § HAHCR 9 AT 3 : 29k AT H ATH-ZIH o1 fadTe=
A ¥ | 319, 2022 1 IThT fedfa foawor = g o

31 HT=l, 2022 h1 ATIAIT qAT =TT kT Teerfa oo

ATER 90,000 | % T Ths 20,000
Syt aATfesT <1 O 30,000 | Tieh 24,000
SIATT T SR0T 30,000 | fras 30,000
= g9 45,000 | STER 20,000
& - T : WY N
' e gy@g™ - 2,000 18,000
et 1,00,000 L DF 1,00,000
SRIN 97,000 | 1,97,000 | fasiam 3=fa @ran 2,00,000
3,92,000 3,92,000

31 9/, 2022 FERfricTRed Si6i G0 &1 o e

()  EW F'T 17,000 H T g8 a1 §IH T GEqh God H<10% Nk
el T

(i) oATfeEl = il STfeEr & RUI hl YA il BT el bl qAT ieh i
T 20,000 F o form |

(iil) ST 9 3y o™ 10% g W o T | 9w femn & T 4,500 1 St
T |

(iv) THFERI &1 YT 10% 2 T T feam i |

(v) 9 2 T 7,000 9 |
T @1 R HIT |
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25. Aadish and Shreyansh were partners in a firm sharing profits and losses
in the ratio of 3 : 2. On 315t March, 2022 their Balance Sheet was as

follows :

Balance Sheet of Aadish and Shreyansh as at 315t March, 2022

A t A t
Liabilities m;un Assets m;un
Creditors 90,000 | Cash at Bank 20,000
Mrs. Aadish’s Loan 30,000 | Stock 24,000
Shreyansh‘s Loan 30,000 | Investments 30,000
General Reserve 45,000 | Debtors 20,000
. Less : Provision for
Capitals :
Doubtful Debts, 2,000 18,000
Aadish 1,00,000 Plant 1,00,000
Shreyansh ~ 97,000 | 1,97,000 | Advertisement Suspense account | 2,00,000
3,92,000 3,92,000

The firm was/dissolved on 815t March, 2022 on the following teris :

(1) Debtors realised ¥ 17,000 and plant realised 10% more than the

book value.

(i1)  Aadish promised to pay Mrs. Aadish’s loan and took away stock at

< 20,000.

(iii) Shreyansh took away half of the investments at a discount of 10%.

Remaining investments realised ¥ 4,500.

(iv)  Creditors were paid off at a discount of 10%.

(v)  Expenses of realisation amounted to ¥ 7,000.

Prepare Realisation Account.

67/1/1 ~~~~
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26. famfcifiga wet & fou o & foefaa @ gt stevss UsHm=n gfafeat

(%) wWH fafiRs 3 T 100 9% & T 10,00,000, 9% FIT9HT I 5% Ffrm
X fifia fopem et sem =R 9wl o 9veTq SHed W R S |

(@) .tg. fafiis 9 T 100 I % T 10,00,000, 10% FOTGHT hl THIH
W fifim fopam fFem wiiem o) 9wl & 9v=mq 10% Siftem @ fean
@ |

(M) IR, TAMES 7 T 100 T=H % T 10,00,000, 9% O I 10% T
w frifga fopem e siem oiw 9wt & wwerq 5% Hife w fen
@ |

q @
fererew - 1
(forfrar foraort =t fergerson)

27. () fTmafafea @ & sH-o1 wefie a8 2
(2) w TETAT O S <H] AT = T=HIGH & ATH + Tehed ATH
(b) | JeTeHd & S Bl A = HAX T TIh = g T 9T =
~ i w2
(c) IO U M el AN = TRFHeh Lleh + AfdH ik
(d) I 8 T AN = e 8 3T — Hehed [ oTH

HAAT
(Gi) TrHfaigd ¥ 9 -1 o fTewon & favemor 1t 3ushtur/adie]
3
i)  Uehg YaTg foawo
(i) WA feawor
(iii) @Tdi % JIeH
iv) feufa faaro

&l faehed 1 == FifvT
(a @
(b) ()3 (i)
(c) (i)
d @), () AR (iv)
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26. Pass necessary journal entries for the following transactions relating to

the issue of debentures :
(a) Gagan Limited issued ¥ 10,00,000, 9% Debentures of ¥ 100 each
at a premium of 5%, redeemable at par after four years.
(b) KS Limited issued ¥ 10,00,000, 10% Debentures of ¥ 100 each at
par, redeemable at 10% premium after four years.
(c) QR Limited issued T 10,00,000, 9% Debentures of ¥ 100 each at a
discount of 10%, redeemable at a premium of 5% after five years.
PART B
OPTION -1
(Analysis of Financial Statements)
27. (1) Which of the following equations is correct : 1
(a) Cost of Revenue from Operations = Revenue from
Operations + Gross Profit
(b)  Cost of Revenue from Operations = Opening Inventory — Net
Purchases+Birect Expenses — Closing Inventory
(c) Cost ofgRevenue’ from Operations#=" Opening Inventory +
Closing Inventory
(d) ™ Cost of Revenue from Operations = Revenue from' Operations
— Gross Profit
OR
(i1)) Which of the following is a tool of YAnalysis of Financial
Statements : 1
(1) Cash Flow Statement
(ii))  Statement of Profit and Loss
(iii)  Notes to Accounts
(iv) Balance Sheet
Choose the correct option :
(a) ()
(b) (i) and (ii)
() (1)
(d (), ({11 and (iv)
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o 0

LN

(a)
(c)

(1)

(i1)

Rad g=1 9 ‘@i &Iy’ &
1] IEFI T 20,00,000
-] ittt ¥ 40,00,000
AelepTel= 3UR Z 25,00,000
TaTiHcd 31T 25%
Z 10,00,000 (b) ¥ 14,00,000
T 24,00,000 (d ¥ 15,00,000
U foefi™ ST g “Yam fohem T e ke aTg fatoT s T
fafafaa # 9 form wfafafe & sr=aia s
(a) =T Tfdfete
(b) Traw wfafafa
(¢c) Torcfim nifafafe
(d) &I (b) T (c)
JrqET
Teh S ITW g THaw | ed =41l Ushs JaT8 foakur s91d 99
fFriafea o o fopm Wfafafe & S=gia o .
(a) | e it
(b) | Ter=t AfcqiaTer

(c) UATAd lll?liéli‘élf
(d)  gFi(b) @ (c)

Uehg JYaT8 foawm s=d gAY Fefdfigd § 8 SH-gy@aedt < foxdi nfafafer
o 3T=AId I ST

(1)
(i)
(iii)

(iv)

U 790 1 et

STel ¥ T Uehe

SRUTTST T INEA

MR ¢ o foa%g YA R T Tehs

et faemed =1 == IS

(a)
(b)
(c)
(d)

(i)

(1) 991 (i1)

(1) 99T (i1i)

(1), (i) 9AT (iv)
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From the following information, the ‘Proprietor’s funds’ are : 1
Current Assets < 20,00,000
Non-Current Assets < 40,00,000
Long Term Borrowings < 25,00,000
Proprietary Ratio 25%

(a) ¥ 10,00,000 (b) T 14,00,000

(c) T 24,00,000 (d) < 15,00,000

(i) ‘Dividend paid’ by a financial enterprise will come under which
kind of activity from the following while preparing cash flow
statement : 1

(a)  Operating Activity
(b)  Investing Activity
(c) Financing Activity
(d)  Both (b) and (c)

OR
(ii)  ‘Interest received on investments’ will come under which type of
activity from the following, while preparing cash flow statement of
a non-financial enterprise : 1

(a) | Investing Activity
(b)  Financing Activity
(c) Operating Activity
(d)  Both (b) and (c)

Which of the following transactions are shown under financing activities
while preparing cash flow statement : 1

(1) Issue of Equity Shares

(ii))  Cash Received from Debtors

(iii) Redemption of Debentures

(iv) Cash Paid Against Trade Payables
Choose the correct option :

(a) ()

(b) (i) and (ii)

(¢) (1) and (iii)

(d (@), @11 and (iv)
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31. FH! rfufem, 2013 ST ST 1L, Wi 136 3TER Fefeilad #al i o
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(a) T 40,000 % HTA T IUT HIA
(b) ¥ 2,000 %h B T T 8,000 % HA=R <hl forshl
(¢) SUUR 9T ¥ T 15,000 <hl Uehg TTfeq

d ¥ 6,00,000 % FHAT 37 HT FET
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Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 :

(a) Licenses and Franchise
(b)  Loans Repayable on Demand

(¢) Accrued Income

‘It is a technique which involves regrouping of data by application of

arithmetical relationships.” Identify the technique and state its two

advantages.

(i) Calculate Gross Profit Ratio from the following information :
Inventory Turnever Ratio : ™" 6gimes
Average Inventory 1 T 4,00,000

Goods are sold at a profit of 25% on cost

OR

(ii) The Current Ratio of a company is 2 : 1. State giving reasons,
which of the following transactions would improve, reduce or not

change the ratio :

(a)  Purchased goods on credit ¥ 40,000

(b)  Sale of furniture of ¥ 8,000 at a loss of T 2,000
(c) Cash received from trade receivables ¥ 15,000

(d)  Issued equity shares ¥ 6,00,000
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34. fTmafafea weufe @ = ufeu qeon 3% snur w feu U gt & I
&
2011 T ¢ JaT WA T, duieft wifean qun fads wifean 4w Ataets
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cr@roikicil
31 HT™, 2022 ! 1 & FAfafga feafa faewor @ = nfafafirn @ tes
a8’ <hl MUET iU |
31 UTd, 2022 @t ‘R gt ferfuee’ =t feafa feawon
P— =ﬁ2 31812022 31.3.2021
9. T 3
I AT T FFATE
U H RIS
(%) =1 9§l 9,00,000 3,00,000
(@) = g e s 75,000 3,60,000
2. TR Fan
Eeh T 3R 2 2,40,000 1,80,000
3. I oFa
(%) oAYR 18,000 60,000
(@) TR Tae™ 3 2,04,000 2,10,000
K3 14,37,000 11,10,000
II — gfEvafT
1. IR aResfEt
T} ittt 4 10,08,000 5,76,000
2. =T aREwEt
(%) ik 3,54,000 3,87,000
(@) g W@ Uhg qed 75,000 1,47,000
HA 14,37,000 11,10,000
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Read the following hypothetical text and answer the given questions on

the basis of the same.

In 2011, two young Indian entrepreneurs, Vaishali Bhatia and Vivek
Bhatia decided to start an online auto portal. At that time, there were no
major players in the market and they saw an opportunity to fill the gap.
They used a user-friendly website and mobile app which made it easy for
users to research and buy cars. It was converted into a company ‘Car

Easy Ltd.” in 2018.

From the following Balance Sheet of the company as on 315t March, 2022,
calculate ‘Cash Flows From Operating Activities’.

Balance Sheet of ‘Car Easy Ltd’ as at 315t March, 2022

Particulars Note | 31.3.2022 | 31.3.2021
No. T T
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 9,00,000 3,00,000
(byReserves and Surplus 1 75,000 3,60,000
2. Non-Current Liabilities
Long-term Borrowings 2 2,40,000 1,80,000
3. Current Liabilities
(a) Trade Payables 18,000 60,000
(b) Short-term Provisions 3 2,04,000 2,10,000
14,37,000 | 11,10,000
II - Assets :
1. Non-Current Assets
Fixed Assets 4 10,08,000 5,76,000
2. Current Assets
(a) Inventories 3,54,000 3,87,000
(b) Cash and Cash
Equivalents 75,000 1,47,000
14,37,000 | 11,10,000

a2 2o 2o 4
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QTdi o A1ed :
Are 31.3.2022 | 31.3.2021
g. o T T
1 | 999 U e
TR AT ATY-gTH farawor &1 3w 75,000 3,60,000
75,000 3,60,000
9 | dederTel 34T
10% o9 2,40,000 1,80,000
2,40,000 1,80,000
3 | TR JEE™
EZ@ICRIE] 2,04,000 2,10,000
2,04,000 2,10,000
4 | Tl gfetaat
ENEE 11,52,000 6,45,000
g eI (1,44,000) (69,000)
T 10,08,000 5,76,000
SIaR® Gl :

1) 10% o9l ot e 81 |, 2021 i fomam T |

(i) 99 % R 80,000 T =1 TAH TR T |
UT &
foreew - II
(erfirerfors eraeRT)

O\ N

27. (1)  hifefthhsd hI TETIRdl aidl B

NN N

(a) I higH i 3 o forw |

(b)  @ral, Sideei, 31fe I Fifera W = fore |

(c) ATl ol MiUd W (TARHSM) & U |

(d)  AThsl o JEH Tishav & fu, 3faa ferie @ & fou |

YT
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Notes to Accounts :

Note . 31.3.2022 | 31.3.2021
No. Particulars - -
1 Reserve and Surplus
Surplus i.e. Balance in Statement of
Profit and Loss 75,000 3,60,000
75,000 3,60,000
2 Long-term Borrowings
10% Debentures 2,40,000 1,80,000
2,40,000 1,80,000
3 Short-term Provisions
Provision for Tax 2,04,000 2,10,000
2,04,000 2,10,000
4 Fixed Assets
Machinery 11,52,000 6,45,000
Aeccumulated Depreciation (1,44,000) (69,000)
Total 10,08,000 5,76,000

Additional Information :

(1)
(i1)

(1)

PART B
OPTION - 11

10% Debentures were issued on 315t March, 2021.
Tax of ¥ 80,000 was paid during the year.

(Computerised Accounting)

The need of codification is for :
(a)
(b)  To secure accounts, reports, etc.
(c) The encryption of data.

(d)

OR
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The generation of mnemonic codes.

Easy to process data, keeping proper records.
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(i) & W@ el i HET §gd HH BIdl @ A1 IR &HAT §gd
3T BT B, 3T TeH & foC FHfaiad § ¥ $H-81 iRl Johdl
39Y<h BT B
(a) fafere
(b) I o FIAR (AS)

(c) M forfRre wd <erg
(d) gH

28. Ueh ARV AHARH AT Bl hl INUMH HEATT & :
(a) Y9/ AT o
(b)  HAYd H
(c) ToEY qed
d &S g

29. 9 It @Al @ wfad ATws! & Th a7 § Y. foven Srar 8, a1 o8
FEAT B
(a) dRdfaeh G TshHml
(b)  EHG Sshuwl
(c)  3TTehel atfientur
(d)  TERHY AT G JLRL

30. (i) TG qAT AL TR § FAAT TTed hid oh (oTC @RI 3TTH I
3= 3UqA! 4, ST gIATRIAT &, H1 AW & :
(a) e Td sh I
(b) I TG 39aH
() WA 39aH
(d)  Afm @rd 3o

AT

(i)  $Ye 3Afergl <l fopell 31T AThel & T L T UishaT HEardl 2
(a)  3Tehel JLRTT

(b)  3lher A
(c) T AThe
(d) YR 3Ffhe
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(i1))  Which of the following software packages is suitable for an
organisation where the volume of accounting transactions is very
small and adaptability is very high : 1

(a)  Specific
(b)  Tailored
(c) Specific and tailored both
(d)  Generic

28. The outcome of an arithmetic expression or function is called : 1
(a)  Derived Value
(b)  Basic Value
(c) Vertical Value
(d)  Horizontal Value

29. When the accumulated data from various sources is processed in one
shot, it is called : 1

(a)  Real-time processing
(b)  Batch processing
(c) Data validation

(d)  Processing and Revalidation

30. (@) The name of accounting information sub-system-which is linked
with other sub-systems for obtaining information about cost and
expenses 1is : 1

(a)  Cash and Bank sub-system
(b)  Expense Accounting sub-system
(c) Costing sub-system

(d)  Final Accounts sub-system

OR

(ii)  The process of comparing input data with some unknown data is
called : 1

(a) Data validation
(b) Data entry
(¢) Information data

(d)  Storage data
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32.

33.

34.
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ST VI BrHAT e W @l qgadl, al -t L The Bt 7 ? ST
&l T & TN hl IgE HIY |

o T, ‘M Y IR & IREl 9T IUANTh] YRHTNG a13e’ Ieal i
TUTET |

(%) ‘eATheT WU FT g ? T U MU 31Tehe ol &MU H o AT foha
3URTUTT ShT ST TRt STTaT B 2 HEATST |

AAAT
(@) @ ARSI o TS ST hi F ST, |

T a9 & TAH qoF w1 FA1 7 7 ? $HhI TET H HaRIdl Hi arel o
HH ! HHATST |
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32.

33.

34.
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Which error occurs when Excel does not recognise ‘text’ in the formula ?
State the steps to correct it.

Explain the terms ‘Memo Voucher’, ‘Post-dated Voucher’ and ‘User-defined
Voucher’.

(a)  What is ‘data formatting’ ? What tools are used to format a given
data ? Explain.

OR

(b)  List eight uses of accounting software.

What is meant by ‘Present Value’ of an i

went ? Explain the

financial function which helps in its calculation.

Infinityy :

v
>
BY 5’3\(’
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